read;nvar=17;nobs=453;file=D:\old_drive_d\new_laptop\CE697N-disk\LOGIT-A1.txt$

create;cage=86-x15$

nlogit

;lhs=x1

;choices=arterial,rural,freeway

;tree=nf(rural,arterial),three(freeway)

;model:

u(arterial)=dista*x7/

u(rural)=rural*one+distr*x7/

u(freeway)=freeway*one+distf*x7/

u(nf)=malenf*x12+cagenf*cage+domnf*x16

;ivset: (three)=[1]$

nlogit

;lhs=x1

;choices=arterial,rural,freeway

;tree=na(rural,freeway),three(arterial)

;model:

u(arterial)=artc*one+dista*x7/

u(rural)=rural*one+distr*x7/

u(freeway)=distf*x7/

u(na)=childna*x13+cagena*cage

;ivset: (three)=[1]$

nlogit
;lhs=x1
;choices=arterial,rural,freeway
;tree=nr(arterial,freeway),three(rural)
;model:
u(arterial)=artc*one+dista*x7/
u(rural)=rural*one+distr*x7/
u(freeway)=distf*x7/
u(nr)=childnr*x13+cagenr*cage
;ivset: (three)=[1]$
